









































































































CSCI301 lecture21 NFA

DFAE.IOB L W W ends with a

DFAp
NFA

0 30 ExANFADesignwarmup
0 0

Plottwisttheorm

Given an NFA N thereexists a DFAM

such that L N M

NFA's are nomorpome fulthan
DFA's

Proof By construction

Suppose N Q E d q F is an NFA

Construct a DFA M Q E dig F












































































































Q P Q
SmallExample

ofahh
Idea run all pathsthrough the

machine inparallel

s
Q a

8 Ria stria

EPLa Q off

What about E transitions Ex B NFA
ConversionWarmup

Definition The Esure of a state s in Q

written E is theset of states

reachablefrom s after 0 or more

E transitions












































































































Consider this NFA NEQ E q d F Q

Σ

q
FEx Find the

E closure of each 8
State in Q

C 1 1123

Ce 2 23

Ce 3 33

Strategy for running a machine with

E transitions
0 Start in state q

1 Make 0 or more E transitions
Let q Ce q

FP
2 Read a

symbol

Make 0 or more E
transitions

one application ofd

4 Read a symbol

J R a Ce stria














































































































stateff
Ex C complete d table

and determine F

F
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